Dependent var: d_SecS2 = 1 if has attended secondary school, 0 otherwise
Explanatory variables:  hivhh (lives in house with HIV); Wealth (household wealth)

Bankacc (has access to credit); nSecSyouth (number of secondary school youth); Educhh (education of head of household); AgeY (age of youth 14-22); Stg5 & Stg6  (accepting attitudes toward people licing with HIV); NoSch (number of schools); DistSch (distance to School); DCC (direct cost); Distrd (distance to road); 

**MALE YOUTH LIVING IN POOR HOUSEHOLD, WITH AND WITHOUT HIV

clear

use C:\DATA\New\SvyProbit.dta

svyset [pweight=wgt], strata(Sex) psu(psu)

xi3: quietly probit d_SecS2 hivhh i.Wealth2 Bankacc U5 nSecSyouth Educhh AgeY Emp Stg5 Stg6 NoSchC i.C_DistSch DCC C_Distrd_PS BkHiv SecYU5c if usecasem==1 [pw=wgt], robust cluster(psu) nolog

prgen AgeY, x(hivhh=0 _IWealth2_1=0 Bankacc=0.12 U5=0.92 nSecSyouth=2.43 Educhh=0.09 Emp=0.58 Stg5=0.69 Stg6=0.86 NoSchC=11.86 _IC_DistSch_1=0.72 DCC=213615 C_Distrd_PS=0.91 BkHiv=0.02 SecYU5c=-0.49) from (13) to(23) gen(nohiv ) ncases(11)

prgen AgeY, x(hivhh=1 _IWealth2_1=0 Bankacc=0.12 U5=0.92 nSecSyouth=2.43 Educhh=0.09 Emp=0.58 Stg5=0.69 Stg6=0.86
NoSchC=11.86 _IC_DistSch_1=0.72 DCC=213615 C_Distrd_PS=0.91 BkHiv=0.02 SecYU5c=-0.49) from (13) to(23) 

gen(hiv ) ncases(11)

twoway mspline  nohivp1 hivx, lpattern(dash) || mspline  hivp1  hivx,  legend( label(1 Does not live in Hiv House) label(2 Lives in Hiv House)) title("Probability of School Attendance") subtitle("Male Youth in Poor Household with/without HIV")  ytitle("Pr(d_SecS=1)")

graph save C:\DATA\New\PredProbMpoor_HIVnoHIV.gph, replace
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Now using Clarify 

**PLOTTING WITH CONFIDENCE INTERVAL.

clear

use C:\DATA\New\SvyProbit.dta
xi3: estsimp probit d_SecS2 hivhh i.Wealth2 Bankacc U5 nSecSyouth Educhh AgeY Emp Stg5 Stg6 NoSchC i.C_DistSch DCC C_Distrd_PS BkHiv SecYU5c if usecasem==1 [pw=wgt], robust cluster(psu) nolog


gen plo = .


gen phi = .


gen AgeYaxis = _n + 13 in 1/10

setx hivhh 1 _IWealth2_1 1 Bankacc 0.12 U5 0.92 nSecSyouth 2.43 Educhh 0.09 Emp 0.58 Stg5 0.69 Stg6 0.86
NoSchC 11.86 _IC_DistSch_1 0.72 DCC 213615 C_Distrd_PS 0.91 BkHiv 0.02
SecYU5c -0.49


local a = 14


while `a' <= 22 {



setx AgeY `a'


simqi, prval(1)genpr(pi)


_pctile pi, p(2.5, 97.5) 


replace plo = r(r1) if AgeYaxis==`a'


replace phi = r(r2) if AgeYaxis==`a'


drop pi


local a = `a' + 1

}

sort AgeYaxis

graph plo phi AgeYaxis, s(ii) c(||)

If I do the above, I get the following message indicating that I am using Stata7 syntax: 

plograph_g.new phi ageaxis, s(ii) c(||): class member function not found

If I do the following, I get same graph as prgen but without confidence interval

gr7 plo phi AgeYaxis,  s(oo) c(ll) ylabel(0(.1)1)
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